8H FE— At

8H H—HHIM AR & £
I—)LR Ly R T7DHE

=

8H H—HBIM Bk R & #

d— VR L yR VI DES

& Az & 4 ouT IN [TOTAL| HDCP NET
B B Rrf s =% 40 | 38 | 78 12 66
HER g BE = 41 | 39 | 80 | 12 68
3 fir ffEE= 40 | 38 | 78 9 69
4 fif IIA BB ] 37 | 42 | 79 10 69
5 fif HIE 37 | 43 | 80 | 10 70
B-:G BHF HBx | 39 | 38 | 77
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B W IR mE— 36 | 39 75 10 65
HER F oA VAN 37 | 41 78 13 65
3 fir WIS S5 EA 36 | 41 | 77 10 67
4 fr M 54 39 | 42 | 81 12 69
5 fr NH HZ 38 | 42 | 80 10 70
B-G | HMHE KEZ | 36 | 39 | 75
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E B ART IE& 38 | 39 | 77 | 14 63
MRS H R 47 | 50 | 97 30 67
3 i 5l 3 41 | 44 | 85 17 68
4 fif % 0TS 47 | 45 | 92 | 23 69
5 fif s PR 49 | 43 | 92 | 23 69
B-G AT EBE 38 | 39 77
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3 fir LTS 41 | 45 | 86 20 66
4 fif KH FEiE 46 | 48 | 94 | 28 66
5 fir NI Bk 44 | 44 | 88 | 21 67
B-G JII E VR 37 | 41 | 78
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